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You are allowed (o have
A4 note (handwritten, t

I. True or False (6 p.)

Determine whether the s
justify your answers, Simply |
(Every correct answer +1 p., évery wro

(a) In the context of linear reg
tors can be applied only
(b) Tn the context of linear r
15 a measure ol heterosce
(e) An autoregressive proc
(d) The theoretical autoco
process ol order 3 is equ

(¢) In exponential smoothing,
weighted sum of the previoi

2. Linear regression (6 p.)

Consider a random sample (2, y)
the linear regression model

You have estimated the pa-.r&metéiﬁ Oy

traditional least squares est

(a) Explain, step by step, |
dence intervals for the param
(b) Assume that 0 is in the
4, but it is not in the co
How would you interpre




(a) Based on
manage {

series. What are th P -
Ty3ne of the original observed ser]

ing questions. You do not have to
answer +1 p., every WI'ONEZ answe

(a) Which one of the processes (¢

process?

(b) Which one of the processes {S

process?

:I'..l E'ﬂ-rlli['h ane i"'l-f t-hﬂ: I-}I‘DUEHE
process? .
Which one of the processes (!

process?

(¢) Which one of the proces;
process?

(f) Which one of the Dre
process?
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ACF of Series 4

1
5 |
nile—
“ i = AL 40
Lag
I______];__ ACF o5 5
; ?U: 4 3] i T“i“ T ‘F’:c&‘_:aﬁ ettty
T 20 = o

Lag

65

i 04

0.2

=0.2. 0.0

=06

| TT??Q
13

T T y :
i L =4 30

Lag

L~ \
I : " ; \
0 10 o i “
Lag

PACF of Series &

i b 20 30

Lag

4G



